2—186—2
et S22 7 H

HEERREREE (TEOITHZED9)

— ZJEERTHEIELERS 3 - 2 - 6 AR AAR
BB ES TH A EE RS 3+ 3 ¢ 6 B AR
(T I~ Ry i BIRITfE) AR —

AAETEH B, iREh
O REBEREDT-OOHEE
(KREIEYe, 8B Y K SCBREE . Sk - STk RE .

D)
BRIE S ASTAN E O ERk124 9 6H
HHFEFEEORN TERRITH 9H 12H

1. BEXREBOEZH. AREFORBRVE-LHEHAOAEH
4 FF o RS
REH - FEE I 56+
PTEH SR X P BTE T H 8 & 1%

2. MREFXFOEMRUVER
A B ZJEATETEERS 3 + 2 - 6 SRRAT IR R
FUREF A T E FEE R 3 - 3 - 6 AR
(=08 i e ~ R 7 T B AT ) e
M EE OB

3. WRBEOANEDHIRL
ARFEHET, TZEMTEIERER 3+ 2 - 6 SRR OB R4 i 5T &R 3 - 3+ 6 5 Al R4 H
DL, ZJETRIR T HAZREAE L, UEREHERT— T HAKR L T2LEER 3. 1km DX (LLF [H
EXM W H,) IZoWnT, 4HEBREREZEFTILOTHD,
FEHBOMEL LR — 1, FEETREZX— 1, BERHEXZX— 2, EEENERZ X — 31277,



-1 MNREBEXROFEOHRE

o H N
SEER  #93.1kn
AL B TR T H

7 [ B OV XC[H] FeaR s OB R RS RT— T B

=3 - 2 658 MER : £ 2.80kn
HUEEF 3 + 3+ 65 HER : 49 0. 30 kn

e bk =g, RS

B R B B A TR 1k

HRER AR 4 HHR

TE R B 36m  (BREGHERX AT 2 iR BT D)

AR E 60 km/H

= 3-2-2 B (R\ERR)

— AT R O\ RLATE)
=& 3-4-5 H#E (L)
= 3-4-7 B GHEAEW YD)
=JE 3-4-8 SR

T AT A R 346+ 1 S
=JE3-4-9 SR
R 3-4-2 SRR (BERE DY)
A 1
R 3-4-7 SR (ZJEE S SFHR)
EEREF 3-4-3 5 GRO5EE Y )
— *&%(QE%M%NOMm
FEGLES « 9 0. 03 km
. AT 5 (26,200~32,600 &/H)
B AR i " .
40 15 4R (26, 600~35,800 &/ H)
L HBR LA S 5 (TE)
T R 17 A~ 4 R (FE)




L =
-t i

kot
[R1]
D BOETEHEEB3 262
mmmmmm | Z[E B —EPTHEEE3-2-6S
BhoRoR RETELEE
~ZETHEE) RREE
o BIEEE | o mmmgms@Esl 2 62 :
EhRoR (BEXTERS 160,500
R S o ~IEHE) ERER 0 500 1.000 2000 m
@ HBAKRSHE (S@~1)|D ——
‘ BRI DL
7)1 - KBS
H—1 XXM ER
8% COEIG. BLHIERETD LA 1 #HERIC. NAIICRITABRORIES
BERELICEDTHS,

_3_



FHE{EFEE 2 —F

_ <

_ (WHL'EGY) BIXXSEY >
HOYWES 0 - € - £ FWE YOWWES 0 2 CH=
TUE0R T | w8z G¥ .
g% (U260 6F) 9856— wﬁl (WISE'L ) BTH— .
(WX200 G¥) dRekS (WXL0°0 G¥) dRekESk

(WX0E0 G) dR%—
(u>) FmHE
l'e 0¢€ G¢ 0¢ gl 0l S0
o _ _ ; [ !

- +-wog
- B¥DYC

w09 IREEY:

=
=4¥% P

+wos

H
AR - < -
B - < -

|l - < - o
HEERO - © - — g
|| - < - 0
|1 [ - < - o
(BSERS)
I/t - < - 0§
(388>
(<)
| SR - |1 |ReE

(dv)
(W) =&

€
gv
g

0L
#g
=i

(B =1mER)

(A
4
£
-]

(K =1iER)

R E 7

YN ERET

RS

[ - N - N

[u]
I

e

(I8m)
- - Ve
| RS

-1

7ﬁ7}

Gree

|l |t - <+ - o
(Rl
(KR!




— 50 e

36.00
10. 00 L 16.00 10. 00
7.00 2.00 7.00
1 H OE 1 ] E [
thih s
) BEEEE BEESE
(B, s E) (B, BEELE)
BRE MEE
- 36.00
10. 00 ‘ 16.00 10. 00
7.00 2.00 7.00
D o TR ey N
) o o o OO0
EIFt=
B2EE AmEE (ENEK)
18.00
NI I T LTIy [Ty
\ v i i i - L -

7/
{C
)

e

{C
)
{C
)

-3 FRENER



